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Choose the correct answer from the following:  

1- The vesicles in the synapse contain ..... 

a- cholinesterase.    b- noradrenaline. 

c- sodium ions.     d- potassium ions. 

2- The …………... lobe controls the sensation of the touch. 

a- frontal  b- parietal  c- occipital   d- temporal 

Write what the following expressions mean: 

1- One of the excretory organs in humans through which carbon dioxide is 

released. 

2- A process by which plants lose water in the form of a non-pure liquid. 

3- The bending of a plant stem if it is exposed to uneven environmental factors 

during growth. 

4- One of the membranes of the spinal cord, which faces the vertebrae of the 

vertebral column. 

Identify one reason for the following: 

1. The right kidney of an adult develops a larger growth. 

2. The nerve's inability to transmit a nerve impulse for 0.002 seconds. 

3. The body's imbalance in an adult. 

4. The secretion of the hormone adrenaline. 

 


